

<https://doi.org/10.1515/zna-2020-0103>

Received April 12, 2020; accepted June 12, 2020; published online August 06, 2020

$$\text{div}(\mathbf{B}(\mathbf{x})) = 0 \quad (1.2)$$

$$\nabla \cdot (\mathbf{X} \times \mathbf{Y}) = (\nabla \times \mathbf{X}) \cdot \mathbf{Y} - \mathbf{X} \cdot (\nabla \times \mathbf{Y}),$$

$$\alpha(\mathbf{x}) = \alpha^{\pm}(\mathbf{x}), \quad \text{div}(\mathbf{B}(\mathbf{x})) = 0 \quad (1.2)$$

$$\begin{aligned} \text{div}(\mathbf{B}(\mathbf{x})) &= 0 \\ \nabla \times \mathbf{B}(\mathbf{x}) &= \alpha(\mathbf{x})\mathbf{B}(\mathbf{x}) \end{aligned}$$

1-3:

$$(\nabla \times \mathbf{B}(\mathbf{x})) \times \mathbf{B}(\mathbf{x}) = \mu \nabla P(\mathbf{x}), \quad \text{div}(\mathbf{B}(\mathbf{x})) = 0. \quad (1.1)$$

$$\nabla \times \mathbf{B}(\mathbf{x}) = \alpha(\mathbf{x})\mathbf{B}(\mathbf{x}), \quad (1.2)$$

$$\nabla \times \mathbf{B}(\mathbf{x}) = \mathbf{J}(\mathbf{x}); \quad \alpha(\mathbf{x}) = \alpha^{\pm}(\mathbf{x})$$

$$\nabla \alpha(\mathbf{x}) \cdot \mathbf{B}(\mathbf{x}) = 0$$

$$\nabla \cdot [\nabla \alpha(\mathbf{x}) \times \mathbf{B}(\mathbf{x})] = 0. \quad (1.3)$$

$$\alpha(\mathbf{x}) = C$$



(2.9)  $P(\bar{\psi}) = \dots$   $B$

$$\nabla \times \mathbf{B}_\beta(\mathbf{x}) = \alpha_\beta(\mathbf{x}) \mathbf{B}_\beta(\mathbf{x}), \quad (2.10)$$

$$\alpha_\beta(\mathbf{x}) = \frac{G_\beta(\bar{\psi})}{\bar{\psi}} = \pm \frac{G(\bar{\psi})}{\sqrt{\beta + G^2(\bar{\psi})}} \frac{G(\bar{\psi})}{\bar{\psi}}$$

$$= \pm \frac{G(\bar{\psi})}{\sqrt{\beta + G^2(\bar{\psi})}} \alpha(\mathbf{x}). \quad (2.11)$$

$\mathbf{B}_\beta(r, z)$  (E 2.8)  $\alpha$   $\mathbf{B}$   $\mathbf{E}$  (2.6)

$\mathbf{B}_\beta(r, z)$  (E 2.8)  $\alpha$   $\mathbf{B}$   $\mathbf{E}$  -

$$\begin{aligned} \alpha_\zeta(r, z) &= (E - \alpha_\zeta(r, z)) \psi(r, z) - \alpha_\zeta(r, z) \bar{\psi}(r, z) \\ \alpha_\zeta(r, z) &= 0 \\ \bar{\psi}(r, z) &= 0. \end{aligned}$$

$$\bar{\psi}(r, z)$$

$$(\alpha R) = \frac{3\alpha R}{3 - (\alpha R)^2}. \quad (3.16)$$

$$J_{\zeta,3}(r, z) = 0 \quad (3.15)$$

$$S_m^2 \cdot E \quad (3.15)$$

$$J_{\zeta,3}(r, z) \quad \mathbb{R}^3$$

$$z(r=0), \quad E \quad (3.16)$$

$$|\alpha|R_1 \approx 5.7635, \quad |\alpha|R_2 \approx 9.0950, \quad |\alpha|R_3 \approx 12.3229,$$

$$|\alpha|R_4 \approx 15.5146.$$

$$A \quad m \rightarrow \infty \quad R_m \quad |\alpha|R_k \approx (m+1)\pi.$$

$$\psi_4$$

$$(r, z) = \nabla \times \mathbf{B}_{\zeta,4}(r, z) \quad J_{\zeta,4}(r, z) = 0 \quad (3.12)$$

$$E \quad (3.12) \quad (3.14) \quad \psi_4(r, z) = 0$$

$$G_3(\alpha R) + \alpha^2 z^2 G_4(\alpha R) = 0. \quad (3.17)$$

$$E \quad (3.17)$$

$$z = 0 \quad \mathbb{S}_m^1 : z = 0,$$

. C  $\hat{\psi}$   $\hat{\psi}$

$$\mathbf{B}(x, y) = -\psi_y \hat{e}_x + \psi_x \hat{e}_y + \sqrt{2} m e^{\psi/2} \hat{e}_z, \quad (4.7)$$

$$T_\beta(E) = \frac{G(\psi)}{2.7} = \sqrt{2} m e^{\psi/2}. \quad A \quad \hat{\psi}$$

$$\mathbf{B}_\beta(x, y) = -\psi_y \hat{e}_x + \psi_x \hat{e}_y \pm \sqrt{\beta + 2m^2 e^\psi} \hat{e}_z \quad (4.8)$$

$$P(\psi) = \frac{G_\beta(\psi) = \pm \sqrt{\beta + 2m^2 e^\psi}}{E} \cdot B \quad \hat{\psi} \quad E \quad \hat{\psi} \quad (4.6)$$

$$\nabla \times \mathbf{B}_\beta = \mp \frac{m^2 e^\psi}{\sqrt{\beta + 2m^2 e^\psi}} \mathbf{B}_\beta. \quad (4.9)$$

$$E \quad \hat{\psi} \quad (4.4) \quad \hat{\psi} \quad \hat{\psi} \quad E \quad \hat{\psi} \quad (4.7) \quad (4.8)$$

$$\nabla^2 \psi = -m^2 e^\psi. \quad (4.10)$$

$$f(x + iy) = u(x, y) + iv(x, y) \quad (4.10)$$

$\alpha \quad \zeta > 0 \quad j \quad .W$

(E 5.5)  $G(\psi_\lambda) = A \alpha(\psi_\lambda + y)$  (5.2)

$$\nabla \times \mathbf{B} = -\alpha A \frac{\alpha(\psi_\lambda + y) \mathbf{B}}{[\alpha A(\lambda x + \sqrt{1 - \lambda^2} y + c)]} \mathbf{B}. \quad (5.6)$$

E (5.6)  $\mathbf{J} = \nabla \times \mathbf{B}$   
 $\mathbf{J} = -\alpha \mathbf{A} \mathbf{B}$

$G(\psi_\lambda) \rightarrow G_\beta(\psi_\lambda) = \pm \sqrt{\beta + G^2(\psi_\lambda)}$  (2.7)  $\beta > 0$ :  
 (E 4.1):

$$\mathbf{B}_\beta(x, y) = -(\psi_\lambda)_y \hat{z}$$